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e 100000000000
(0000000 (@QOoo0o0o)on)

—oo07 1—



000000000 (resolvent)

R:=KX] =K[X;,...,.X, ] : n 000000
G.~AR: 00000000 (0(Xy) = Xow)

PX)eRODOOO
GP(X) = O'(P)(X) = P(Xg“), . ,Xg(n))

Gp:={0€ G, |P=P}: POOODO

Sp:=0rdg, (P) ={°Plo e &,}: PO &,-00
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000000000 (resolvent)

Gp={0€ &,|°P=P)
Sp = Ordg, (P) ={°P|o € &}

Sp ~ Gn/Gp
P e O'Gp
(G-0DOooooon)

ggo
n!

#50= Jc
(Lagrange 0 O O 1)
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Lagrange 000 (00 O00O0O)
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gbobduwdgoooboood
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d=— 0000000000
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gbobobodgo
uwoogoooog dbooobooooogn
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000000000 (resolvent)
f(X)eK[X]: OO0, degf =n
W={w;,...,w.}: fO0DO0O

L := K(W) = Spl(f/K)
. fO0 KOO (0O)oOoO

©:R— L :0ooooa
h+—— h(wq,...,wy)
I=1(f/K):=Kere OO OO0
Gal(f/K) ={o € &,|o(]) C T}
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000000000 (resolvent)
PX)eRODOMO
@(P)=P(wi,...,wy) €L

e(P)el 0 KOOODODOOODO:
o€ Gal(L/K) =Gal(f/K) OO OO

o(@(P)) =Plo(wi),...,o(wy))
= P(Wo-(”,. .. )Wo'(n))
= "P(wr,...,wn) = @(°P)

000000 Gal(f/K) 00000
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000000000 (resolvent)

00000Gal(f/K) €6, 0000
000000 O0:

c€6, 0000
©(°P) = °P(wr,...,wn) = P(Woq), ..., Won)
(0000 #Sp0)

OO0o0O0bOoo0ooboooo Kooooo ?
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000000000 (resolvent)
P(X)eRODODDO

RPH(T) = [ [ (T—Qlwr,...,wa)

QeSp

= H (T_UP(WD---)WTI))

ocBGn/Gp
€ KIT]
: POOOO fOO00OO (resolvent)

R(P;f)(T)D KOOODODOODOODO
Gal(f/K) DODOOO
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000000000 (resolvent)

R(P:F)(T)0 KOODOODOOD
T 1:1
Gal(f/K)\G,/Gp (DO D DODDO)
gobooo

Gpr0ODODODOOD POOOODOODO
Gal(f/K) DODODOOO
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000000000 (resolvent)
goooo:

e P=X,
GPZanh SP:{XD"'aXn}

R(P;f)(T) = H(T_Wi) = f(T)
i=1
e P: OO
GP = 61’1) SP :{P}
R(P;f)(T) =T —P(wyq,...,wy) € K[T]
— 0o0oogooogno
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O: 000 (discriminant)

A= J] Xi—X) eRrR: OO

1<i<i<n

Ay = JT wi—wy)

1<i<i<n
D(f)=A(f)?: fO0OO0O €K
Ga=2A,, S(A)={A—-A)
R(A;)(T) = T?> — D(f) € K[T]
R(A;)(T) : KOOO & Gal(f/K) C A,
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O:n=3

feKIX|: KOOOOdegf=3000O0O

Gal(f/K) O D(f) 00000

OO0 |00 :RAf)(T)OOO
Ql3=C3 3 + Z(]D)X(]D)
63:D3 6 — 2000
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